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Instructions /fFrder

There are total of 50 questions based on multiple choice

TPIfEd fadhed & SMMUR R Pt 50 9T &

All questions are to be answered compulsory

gt 7o T ITR AT IR &

There is only one correct answer for each question
A T P AT Pharet Top Tt TaTe &

Each question has four (04) marks and there is negative marking
. UAP YT H IR (04) 37 BId & 3R THRIHD 3 Bt &

PR ONN S

A=A
Part -A
GENERAL KNOWLEDGE
9 S

(10 x 04 =40 Marks)
TE ITR BT T N
Choose the correct answer:

1. goit &1 sterer Tt Ut AR Afee 2.

Ms Reena Kaushal Dharmshaktu is the first indian woman.

(a) sicrbice d@ ga / To reach Antarctica

(b) wRca arg 31 7 griere/ Pilot induced in Indian Air Force

(c) cféror ga & foly Tht @< / To Ski to the South Pole

(d) uférg gamaroht affgg=fi 7 ¥aut uea Sfidm/ To win the Gold Medal in the Asian Boxing Championship

2. Brft 9 gReeR ' A thieed a9 ave & forg feam et 82

‘Homi Bhabha Prize' is given for the special contribution in which of the following fields?

(a) difas GifadH/ Theoretical Physics (b) 7= Se1i/ Nuclear Energy
(c) @R wifadl/Laser Physics (d) raRer srgHa™/ Space Research
3. Swg sHfig & S B

'Higher the Hopes’ is biography of

(a) A<’ x41/Mother Teresa (b) “e Fset/ Nelson Mandela
(c) fdem g/ Bishop Tutu (d) 39 ¥ g T&/None of these



4. TR IRR O TI BT gLl H URIT ST 2.

The smallest bone of our body is found in

(@) ¥R &=/Our Ear  (b) &R 1@ /Our Nose (c) &ARI 3if@/Our Eye  (d) R &R &1 3iiefi/Our Toe

5. fr=fafea s a¥ 2016 & folg areme sk IRaT TRGR et 1 & 2
Which of the following is awardee of Ashok Chakra Gallantry Award 20167

(a) <R Ag% ¥8/Subedar Mahendra Singh

(b) N ARIeh Hrg+ A1 M/ Lance Naik Mohan Nath Goswami
(c) fHuTl SFEier/Sepoy Jagadish

(d) @iffesic gRex &8/ Lieutenant Harhinder Singh

6. ‘ERd qu@ia' gRT o fomam T 2.
‘Green Index' has been developed by .

a) Agh Y GIfeRUT HRIHH/ United Nations Environment Programme.

(

(b) W@'ﬂ Monetory DY (JMMSTHTR)/ International Monetory Fund (IMF)
(c) faea da/World Bank
(

d) 79 ¥ PIS T&l/None of these.

7. fRfEd | 9 o w8l &1 § |fém T8 8

Which of the following is not correctly abbreviated?

(a) IEEE: goacit-ad 3iR gelfacde gon-ord T/ IEEE : Institute of Electronics and Electrical Engineers
(b) IMSSUACITH: IR 3fSHT AT g=ieror quretl/IELTS : International English Language Testing System

(c) IFC: sirenfie fa fvm/ IFC : Industrial Finance Corporation
(d) emEuweE: YR fager ¥ar/IFS : Indian Foreign Service

8. SN 3l I Ul Al WIal?

Which is not correctly matched?
(a) 8 3HAR: TR TIRDRI &aH/08 October Indian Air force Day
(b) 3 e faea uepfer feaw/3rd October: World Nature Day
(c) 12 3facer: fdea it f<ea/12th October : World Sight Day
(d) 14 31eFger: fa uRdgs/14th October : Transport Day

9. 3Miciftes HIATST BT Udih ?

The Olympic Flame symbolizes?
(a) Tfcy, gufdT &fR A1/ Speed, Perfection and strength

(b) UTEA 3R 3MgfTe Vet & e fARARAT/Continuity between the ancient and modern games
(c) 31T & faftrsr el & Tehdl/Unity among various nations of the world
(

d) SRt & s TgTa et dx & folT T 18T & ©9 & Wel/ Sports as a means for securing harmony

among the nations.



10.

11.

12.

13.

14.

15.

IAMAI &7 qUf 9 &:
The Full form of IAMAI is

a) Se¥Ac IR Ated Tifiue™ i gf$31/ Internet And Modem Association of India
b) Sc=He 3R AETEd AfGBR IRA $l/ Internet And Mobile Authority of India

c) SeHc IR AeTga THIRIUe i §f$31/ Internet And Mobile Association of India
d) $exc 3iR AT 3reifRet 3ifth f$/ Internet And Modem Authority of India

9T1-B
Part -B
MATHEMATICS
_ ) (05 x 04 =20 Marks)
fopT 3ieT ST 3 T aRTeR =TEl 8
Which of the following fractions is not equal to the other three ?
(a) 4/5 (b) 9/15
(c) 3/5 (d) 6/10
18225 BT A
Find the square root of 18225
(a) 120 (b) 135
(c) 140 (d) 150

AT HIY BICT HEAT & ST 3600 GRT T8 T Hel a1 & folg farfoid 812
What is the smallest number by which 3600 be divided to make it perfect cube?

(@) 175 (b) 450 (c) 250  (d) 180
ST RT3 T AT & 384. TIHITD Pl TAT 48 & . TRT T AR g

The sum of two numbers is 384 HCF of the numbers is 48 the difference of the number is
(a) 100 (b) 192 (c) 288 (d) 336

10 3R 30 & MU THHERT &
The third proportional of 10 and 30 is

(a) 40 (b) 30 (c) 90 (d) None of these



16.

17.

18.

19.

20.

4-

HTI1-C

Part -C

PHYSICS
b

(05 x 04 =20 Marks)
K Udh 3ifetare I il ot & fS SHP I QT 81 TS &, AT ST eIl Sroft &l ST 2

The Kinetic energy of an object is K. If its velocity is doubled, then its kinetic energy will be

(@) K (b) 2K (c) 4K (d) K/4

Teh ealiel & FHI SATPR Bl T UeeR | P SScll & Fieh 2

A football has lesser inertia than a stone of the same size because

(a) U<eR ¥ 318 &a1 Pesiel & 3SR a/football has more air inside than the stone.
(b) R ¥ %H 4T Pedil &b 3R o football has less air inside than the stone.
(c) gﬁ%ﬁa TeeR Bl S 5 H g9 & /football has less mass than the stone.

(d) et gceR 6l gaTT 7 1fdidh g 2/football has more mass than the stone.

1020N &T ToCITHYUT 2Tfch b HIT 5T YT D STh{Nd decll &l IHD 918 Fis Gea! B ToCATHYUT I b
1T MR el 2.

The earth attracts the moon with a gravitational force of 1020N. Then the moon attracts the earth with the
gravitational force of

(@) 10N (b) 102N (c) 10N (d) 10N

IS GRclt BT T & TR IHDT IHH o 81 ST & 1R SHBT S+ UNafeid I&dl 3, Al g2t ol Fas W fohet ag
T qoT B TTII BRTT 2

If the diameter of the earth becomes two times its present value and its mass remains unchanged , then
how would the weight of an object on the surface of the earth be affected

(a) IS T TS 81 ST/ weight would become one-third
(b) IS T TS B SMUTM/weight would become one-fourth
(c) a9 Uab Ud 81 STe/weight would become one-fifth

(d) IS Ud BS & AT/ weight would become one-sixth
Glg &l 3@ &

The unit of G/g is

(@) kgm ™ (b) Kgm= (c) m*kg”" (d) mkg™



-5-

qr1-D
Part -D
BIOLOGY
S iCACE |
(15x 04=60 Marks)

TE SR P 9IT N
Choose the correct answer:
21. <Rk &1 A 91 3 fY BRI & BROT e I 7 B ?

Stool of person is whitish grey colored due to malfunction of which the following organ?

(a) 3F=19RI/ Pancreas  (b) fciefl/Spleen () T</Kidney  (d) fSFR/Liver
22, AB % G B g M @Y e S e aifs?

Blood of AB group cannot be given to B group patient because

(a) M & TS B &/ Patient has antibodies B (b) USIaTEl B Fft &7 3141d/ Patient lacks antibodies B
(c) At T TEETST A BT 311d/ Patient lacks A antibodies (d) R & TS A 8/ patient has antibodies A

23. fJeq ved fGad &

World AIDS day is

(a) 21 &R / 21 December (b) 1 f&E=R/1 December

(c) 1 -g%sX /1 November (d) 1157 /11 June
24,  ufafem wrEa g

The source of Penicillin is

(a) #H /Mushroom (b) starer /Algae

(c) WHR /Yeast (d) @TeT/Mould
25. & i 1 §<Y g9 UaT R 38T 8

The main gas causing green house effect is ?

(a) SfTFES /Oxygen (b) ATggIST/Nitrogen

(c) MIAT /Amonia (e) PIe ISATAATES /Carbon Dioxide
26. @ @i 91 U Sfar] g 87

Which one of the following is not bacterium ?

(a) Escherichia ®IATS /Escherichia coli (b) Neisseria gonorrhoeae
(b) Treponema Pallidum (d) Wuchereria bancrofti



27.

28.

29.

30.

31.

32.

33.

R9M 3 UTe & A1 JST §aTT &.

Sericulture is associated with

(a) X2 BT BT YTe/Rearing of Silk work (b) HIF &7 fddrE/Growth of plant
(b) a1 Ulenfidhl /Textile Technology (d) /Reaving of Prawns

e < T ST T U go0 o folw f&m ST 87

Polio drops are given to a child up to what age ?

(@) 3 9l /3 years (b) 5911/ 5 Years
(c) 7411/ 7 years (d) 8 Hret / 8 Years

SRR & fore 3T & ST IR 5 diac fora ST & ?

In which organ of the body ammonia is converted into urea?

(a) T&/Kidney (b) HHS! /Lungs
(c) RIR/Liver (d) 371d /Intestine
R T ITETT B,

Biopsy is the study of .

a) Sddi Siifad IRR § foiar T/ Tissues taken from living body
b) Il T TRR ¥ fekar T/ Tissues taken from dead body
c) 3 /Organs

(
(
(
(d) hehlet HuTTe! /Skeleton System

T Y T et R 8T AT &

The outermost layer of skin is called

(a) Sff/Dermis (b) TS / Epidermis
(c) Ticeer/Cortex (c) ©sl/Cuticle

ferfm &t 2 5 ORI 1T &

Vitamin B2 is found in

(a) 3T /Cereals (b) HfeSri/Vegetables
(c) @HR /Yeast (d) /Al of the above
ST B YAT M & folt BRI §

The ECG is employed to detect

(a) feat eaf /Heart Sound (b) AT A9 & felw/To measure blood pressure
(b) EFHIfS=T /Arteriosclerosis (d) et &1 SRT /Heart Attack



34.

35.

36.

37.

38.

39.

-7-

Th TR b @ &,

Who has been discovered the blood groups.

(a) 891 /Smith (b) /Landsteiner
() ljanner (d) g1d /Harvey

arer 3R =t fagid B HRAT &

Lock and key principle works on

(a) PETEISSE /Carbohydrate  (b) CofTgHl /Enzymes
(b) eI /Vitamins (d) T H 9 DI o /None of these

qr1-D

Part -D

CHEMISTRY
R ERCEIG]

(15x 04=60 Marks)

57T 5 & I T acheds Web getral(thici b qIR H Teiel 82

Which of the following statement is false about an electrophile ?

(a) SeIaeH Bl HHT Q;‘rlTﬁRﬂ/Electron deficient species
(b) Teh 3F<iiT 3ff¥epHeh/An acidic reagent
(

c) e 3Tfaich Wil Ueh 3TU] H Uep fIeId a5 HT9E IR &Hel el o/A reagent which attacks an electro deficient

site in a molecule
(d) T TSI i getae 1 I U SAIS! aTedT o/A species which seeks a pair of electrons

fFfafEd 5§ o= @) gorferi soie & G 5 afeha 82

Which of the following is active species in sulphonation of benzene ?

(a) YoPRD TAS/H,S0s  (b) __ /SOs (c)___/HSO% (d) ___ /SO3%

I AU H T Hewaee de & feevifafes foge A2,
Heterolytic fission of a covalent bond in organic molecules gives

(a) T @uT/Free Radicals (b) Fey 3fR amai/Cations and anions
(c) ¥ga1 Cations/Only Cations (d) ¥aat UFIE/Only Anions

Uep 3] & IS HTT T8l &
Resonance structures of a molecule does not have

(a) TRATRIT i §9 e@awen/ldentical arrangements of atoms
(b T U & il aFRii/Nearly the same energy content
(
(

~ ~—

C T gelag Al @ U & §&a1/The same number of paired electrons
d) T Heg/ldentical bonding



40.

41.

42.

43,

44,

45.

46.

Tautomerism aRT f&amn =&l &
Tautomerism is not shown by

(a) CH3COCH.CN (b) HCN (c) CH3CH=NOH (d) CH3CN

T-egC 1 FR FRR AT &
The most stable conformation of n-butane is

(a) ¥¥a 9ic/Skew boat (b) wEw/Eclipsed
(c) m/Gauche (d) Sfoa-faRief/Staggered-anti

et & faRTelt < aRa & S1eTTaT GRT GER BT ST HevelT 2
Anti knocking character of gasoline can be improved by the addition of

(a) ffls =the/Lead sulphate (b) ffis sHTgs/Lead bromide
(c) Tetraethyl €’/ Tetraethyl lead (d) Srense FHefm/Diethyl cadmium.

™ areft g it A2t it JUFRURT § TR F T MSHYST BT I R THI UTH T SIS UTH 81T &

The major product obtained when isobutane is treated with chlorine in the presence of diffused

sun light is

(a) Isobutylchloride (b) H-gfeaaariss/n-butylchloride
(c) ee-feaaarmgs/tert-Butylchloride  (d) Jop-fearaariss/Sec-butylchloride
SR B IRCESICERINIIIRISE ST B,

Reductive ozonolysis of o-xylene gives

(a) wrifed/Glyoxal (b) fAerget wrifeel/Methyl glyoxal
(c) s wrieaea/Dimethyl glyoxal (d) SR & Fft/All of the above

U & Hefi T80T I dTel & Selag SRT 7T faaT STl & 7
Two electrons occupying the same orbital are distinguished by

(a) 3 @aicH Fek/azimuthal quantum number (b) @aieq 9= fU4/spin quantum number

(c) 9w aieq ww=1/principal quantum number (d) Jehig Faicq w&g/magnetic quantum
number
CaC2 & 121 Argeior &t ufcrforar & uRumResy SIS UTH BIT 2.

The product obtain as result of a reaction of nitrogen with CaC; is.

(a) CaCNs; (b) Ca.CN (c) Ca(CN), (d) CaCN



-9-

47. TP Yaelslithicid AP & ae SRA<T BT
A nucleophilic reagent must necessarily have

(a)

(b) U FHY AHRIHSD Jeb/An overall negative charge
(c) U% U Setae=/AN unpaired electron
(d)

d R afiace 3R 3rdel gerdeHl & A1 U UuTTil/A species with complete octet and lone pair of
electrons

T 9T HpRIHD Job/An overall positive charge

48. /19§ 34 f worfy Remifes geiy 87
Which of the following species is paramagnetic in nature ?

(a) T qeid/Free Radical (b) @wEffRm smE/Carbonium lon
(c) EMi/Both (d) @S «ft 98i/None

49, T 9 DI O UfES oY T Aol 89 dT IEHIE BT
Which one of the following acids would you expect to be the strongest ?

(a) I-CH2COOH (b) CI-CH2COOH (c) Br-CH2COOH (d) F-CH2COOH

50. oy v vfiew & fay @i a1 Tt faavor &

Which is the correct statement for the given acids ?

(a) Pifsfe TR monoprotic TfES 8T § e hihIe TS @ feucifies ufre grar &/

Phosphinic acid is monoprotic acid while phosphonic acid is a diprotic acid

(b) wifehfe T @ gaNeiies Ui BiaT & wafd hiehife ufie te AMmfies ufEs 8idr 8/

Phosphinic acid is a diprotic acid while phosphonic acid is a monoprotic acid

(c) =i femfes vrs €/Both are diprotic acids

(d) =T i ufds €/Both are triprotic acids

ANSWER KEY/STR ol

1. (c) 2. (c) 3. () 4 (@ 5 (b)) 6 () 7. (3 8 (d)
9. (b) 10. (c) 11. (a) 12.(b)  13.(b)  14.(c) 15. (c) 16. (c)
17. (c) 18. (c) 19.(b)  20.(c)  21.(d)  22.(d)  23.(b)  24(d)
25.(b)  26.(d)  27.(a) 28.(b)  29.(c)  30.(@) 31.(b)  32(d)
33.(d) 34.(b) 35.(b) 36.(c) 37.(b)  38(b) 39 (d) 40. (d)
41. (d)  42.(c)  43.(c)  44.(d)  45.(b)  46.(c)  47.(d)  48.(a)

49. (d) 50. (a)



